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Class: XI
Time: 1.15 hrs
Total Marks: 240

1INPCBO1 | NEET PRACTICE QUESTIONS
(2023-24) (TEST-1)

General Instructions:

1. The test is of 1.15 hrs duration and consists of 60 questions. Each question carries 4 marks. For each
incorrect response, one mark will be deducted.

2. Shade your final answer in the OMR sheet provided.
3. Extra sheet for Rough work purpose, will be given by the invigilator.

PHYSICS Q.No. 1 to 15 3. If the time period of oscillation of a pendulum
is measured as 2.5s using a stop watch with the
leastcount 0.5s, then the permissible error in the
measurement is

A) 10% B) 20% C) 30% D)15%

1. Planck's constant (h), speed of light in vacuum (c)
and Newton's gravitational constant (G) are three
fundamental constants. Which of the following
combinations of these has the dimension of length?
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2. The physical quantities not having same
dimensions are :

A) speed and (ug ) "?
B) Torque and work

S. A physical quantity of the dimension of length
2
e
Are,
[c.is-velocity of light, G is universal constant of

that can be formed out of ¢, G and 1S

C) Momentum and Planck’s constant gravitation and e is charge]

D) Stress and Young’s modules
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6. A physical quantity 'y’ isrepresented by the formula
y = m?r* g 32 If the percentage errors found in
y,m,r,l and g are 18,1,0.5,4 and p respectively,
then find the value of x and p

A)Sand£2 B)4and+3

C) 16/3 and + 3/2 D)8and £2
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B) 4 LOMHMILD + 3
D) 8 LDMMILD + 2

A) 5 lOMMILD + 2

Q) 16/3 LDMMILD + 3/2
7. The pair having the same dimensions is

A) Angular momentum, work

B) Work, torque

C) Potential energy, linear momentum

D) Kinetic energy, velocity
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8. The period of oscillation of a simple pendulum
is given by T = 2mVl/g, where 1 is-about 100 cm
and is known to have 1 mm accuracy.The period is
about 2s. The time of 100 oscillations is measured

by a stopwatch of least count 0.1 s The percentage
error in g is?

A) 0.2%
C) 1%

B) 0.1%
D) 0.8%
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A) 0.2% B) 0.1%

Q) 1% D) 0.8%

9. The density of a material in cgs system of units in
which unit of length is 10 cm and unit of mass is
100g. The value of density of material will be
A) 400 units

C) 0.4 units

B) 0.04 units
D) 40 units

CGS BB Wemmuiley e QLIMBerfler Herid
slemall(hld 6v& 10 cm Blemm emall(HD 26V&
100 g. ILIQUMHerfletr L TSHuNer LnGLIL]

A) 400 SV B) 0.04 {6V &

C0) 0.4 96VG D) 40 9V &

10. The density measurement of a cube, the mass and
edge length are measured as (10.00 += 0.10kg)
and (0.10 = 0.01 m), respectively. The error in
the measurement of density is

A) 0.31 kg/m? B) 0.10kg/m?

Q) 0.07kg/m? D) 0.01 kg/m?
ROB HUFSTSHTT  Blewm  LOOID e
WPemMEUI - (10.00 + 0.10) kg, (0.10 + 0.01) m  SY@LD.
IGH&T FEIISHET ILTHFH 560018119607
NemLp 5600188 (b

A) 0.31 kg/m?

C) 0.07kg/m?

B) 0.10kg/m?
D) 0.01 kg/m?

11. The depth x to'which a bullet penetrates a human
body depends. upon (i) coeffeicint of elasticity, n
and (i1) Kinetic energy KE, by the method. find
the formula for x?
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12. The vander Waal’s equation of a gas is
(P+a/V?) (V-b) = RT where a and b are vander
waals constant. what is the dimension of a?

A. ML°T B. ML-T™!
C.MLT? D. M'L5T



6UIT600T L_IJ 6UIT6VL6MN &FLO6OTLITLIMeOTS! (p+a/V?) (V-b) =
RT @b@&LD. eumesor_j eumevenv ompdled), a - ulledr
LI LD IT600T 161 85 600 61T 85600185 (b)

A) MLT B) MLT-'

C) MLST=2 D) M-L5T-2
13. What is the dimensions of AB in the relation

F=A\/x+Bt2, where F is the force, x is the distance
and t is the time?

A) ML>T B) L '°T?
C)L'? T D) LT>
F=AVx+bt> 6redrm &OETUML Q60 A/B - &

UfllomesorBIg&emer &HevorsSHHh (F 601 - aflend, x -
QB MEM6VA t - &HITEVLD)

A) ML?T B) L7/2T?

Q) LT D) LT

14. Apotential difference V=(100+5V), when applied
across a resistance, gives a current [=(10+0.2)A.
What is the percentage error in R?

A) 7% B) 5% C) 2% D) 8%
@M WL HE Gm&ECH  V=(100£5V)
WetTeoT(WH S CaumiLim() eUPmIGLILIBLD QLTSI
2 (haUMGL WeTGeTmL_L LD . [=(10£0.2)A. 6Teofl6L
leiTHemL R 8560018 & (Heus M e meor il (& &ML (B
LNemrLp SeoorsSH(0).

A) 7% B) 5%

C)2% D) 8%

15. Suppose refractive index p is given as p=A+B/A?
where A and B are constants and A is wavelength,
then dimensions of B are same as that of

A) Wave length B) volume

C) pressure D) Area

eerfl allevdey 6Tetor Y LeOTHl P=A+B/A® 6T60TM
FLOETUTLLIT  SemallLUIU@SmE. @6
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CHEMISTRY Q.No. 16 to 30 |

B) LI(HLOGOT
D) LyLiLy

16. The element Z = 114 will belong to which of the
following family and electronic configuration

A) Halogen family [Rn] 5f'* 6d'° 7S? 7P3
B) [Rn] 5f'* 6d'° 7S? 7P?
C) Oxygen family [Rn] 5f'* 64'° 7S* 7P*
D) [Rn] 5£* 6d'0 752 7P

FeofllngH et e eTevor 114, Heofln auflens
Sl Lalemenoruiley @& Seofllnld S emLnb Sl eTerT
Q5TE&GH GOHWUDL WHMID ST 6T6V& L [JTeor
Sl6mL0LIL

A) aammevel6oT G GIDLILD [Rn] 54 6d0 752 7P5

B) &MTLIGT Q& TGS [Rn] 51 6d'0 752 7P2

Q) Q,E5MIK6T QS TGS [Rn] 54 6d10 752 7P4

D) emBL_FR260T QHM&GS [Rn] 5% 6d"0 752 7P°

17. In which of the following options the order of

arrangement does not agree with the variation of
property indicated against it.

1) B< C <N<O0 (Increasing 1st Isoniation enthalpy)

i1) [< Br< CI<F (Increasing election gain enthalpy)

ii1) Li< Na <K <Rb (Increasing metallic character)

iv) AP’ <Mg?" < Na+ < F~ (Increasing ionic size)

A) (1) (11) (i) B) (1) (i)

C) (1) (i) (iv) D) (i) (i1) (iv)
G105 5 600T L alflena IR &S LI (6T
& 601061 5 61T ML LI &G 6T
Q&TH & & LI (h6TeT Lievor L] & 61160l (5 1H &l

eTeuaUmM CaumILIRHME?

i) B<C<N <0 (L& 6V 6N Sl 2] W60 LLITE & LD 24, M M6V
gml aurflensuilev)

ii)l<Br< _CI<F  (eTeu&L_[JITeor
goiaifleng uiev)

iii) LixNa<K<Rb(2_8eumas L1 LievorL|eFmieuflemauilev)

iv) APr < Mg?" < Na* < F~ (3jwlenf] serfletT 2_peuere)]
gmiaifleng uiev)

&6 60T6M LN

A) (i) (ii)-(ii) B) (i) (i)
Q). (i) (i) (iv) D) (i) (i) (iv)
18. Tdentify the wrong statement in the following

A) Amongst isoelectronic species, smaller the
positive charge on the cation smaller is the
ionic radious.

B) Amongst 1isoelectronic species, greater the
negative charge on the anion larger is the ionic
radius.

C) Atomic radius of the elements increases as one
move down the group of the periodic table.

D) Atomic radius of the elements decreases as one
moves across from left to right in the second
period of the periodic table.

LD &8 600TL6UMMI6L 2_6T6IT &6UMITET Jo (DM
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Q) eufln auflend 9L Lauemevor uilev GO (BB S
FOTHEF QFNID  CUTH I sieder
2_(Heueney H&fl&GLWD.
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QIVIDMHEF GFaID GCUTEH  3jsmiailer
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19. Amongst the element which one many have
highest ionization energy?

A) [Ne] 38 3p°

B) [Ne] 38 3P2

C) [Ar] 3d" 4S? 4P*

D) [Ne] 3S2 3P!
GG Q&HTH &S LILL (H6TerT &6t oI & 6rfl 6T 5 &
SjWeflWme G LD QMMemeV GlLIMMIGTET Geofllnld

A) [Ne] 352 3pP3

B) [Ne] 352 3P?

Q) [Ar] 3d'°4S? 4p#

D) [Ne] 352 3P"

20. Which of the following oxides is not expected to
react with NaOH?
A) B,O, B) BeO
C) SiO, D) CaO
GFMIQUILD MM T8 605 (h 60T 6dlemeorL|Fluims
& & (b
A) B,O,
Q) Sio,

B) BeO
D) CaO

21. Identify the correct order of size of the following
A) Ca?* <K'<Ar<S*<CI
B) Ca* <K' < Ar<Cl <S*
C) Ar<Ca’ <K'<ClI <S*
D) Ca** < Ar<K'<CI' <S§*

9| Wieoflulledr 2 _(HeUeTemalLl QUGS
gmialiflenguiev Frflwimer alflengenul
CETHASMH

A) Ca’* < K* < Ar < S* < CI-

B) Ca®* < K* < Ar< Cl- < §*

C) Ar < Ca** < K* < CIF < S*

D) Ca?* < Ar < K* < CI- < §*

22. An atom has electronic configuration 1S* 2S? 2P¢
3S? 3P°¢ 3d° 4S? you will place it in
A) 5th group
B) 15th group

C) 2nd group

D) 3rd group
152 252 2P6 352 3P6 3d3 452 6T60T M 6T6VEs L_IJ 60T
Slemnllemll 2 LUl Seoflnh SHeofln auflens
| LalemenoTuiley @ L LD QLIMMIETET Q& TE&HS5)

A)5 gl OSTE&H

B) 15 6ugl QTGS

02 g OsMG&H

D) 3 eugl QBMTGH
23. The first ionization potential (in eV) of Be and

B are

A) 8.29,9.32

B) 9.32.9.32

C) 8.29, 8.29

D) 9.32, 8.29
Be InMMILD B 6T (NSHLVMaUS Weoflume @D
2 MHMeSl6T IDGLILY

A) 8.29,9.32

B) 9.32.9.32

C) 8.29, 8.29

D) 9.32, 8.29

24. Which of the following sets has strongest
tendency to form anions?

A) Ga, In, Tl

B) Na, Mg, Al

C)N,O,F

D) V, Cr, Mn
GCp QEMHSESLILLB6TeT  Heoflnmigserfleor
QaIGLILIN ereflsmes TS ILller ouieflseTTs
LOTMILD 60T L M8 6T

A) Ga, In, Tl

B) Na, Mg, Al

ON,O,F

D)V, Cr, Mn

25. Pauling's electro negativity values for elements
are useful in predicting

A) Polarity of the Molecule

B) Position in the periodic table

C) Dipole moments

D) Co-ordination number
1161 65) I &) 60T & 6011 L0 M1 &5 61fl 60T 6T6VE5 LT T6dT
SHeaufseremnln WG LN BHS BT mleug

A) CFTLOMIG 6 60T (LD 60)60T6Y M1 G560

B) &evflLn alfleng
IMLDBSI6TET @ L LD

3L Leuemevoruflev



C) 2|60)600T6Y 6T600T
D) @@ W ement S(BLIL &S medr
26. The ionization of hydrogen atom would give
rise to
A) Hydride ion
B) Hydronium ion
C) Proton
D) Hydroxyl ion
AL JE260)60T | WlefIWMEGLD CUME HemL L)
A) eamL e T[H 2fuwleof]
B) emamL_Grmeoflwild uwieof]
C) UG TLLeor
D) emamL_Jm&&6v 3juwleof]
27. One of the characteristic property of non-metal
is that they
A) Are reducing agents
B) Form basic oxides
C) Form cation by gaining electron
D) Are electronegative elements
2|BGeuITEH IS 6rfl 60T S6of]LILILLL Ll6uoT L85 6rfl6L epedTm
A) (h&G LD LieoorL
B) &M Q,&6MEFL & LOMMILD LI6OOTLY
Q) 6TEL&L_[TMedT BT L SH60T  eLnevid -~ GhiyLiledr
SjWeoflWIms LommigHev
D) 6T6LEL_[JIT60T &HEUIT & 60TemIn
28. The element with atomic number 118, will be
A) Alkali metals
B) Noble gas
C) Lanthanoides

D) Transition elements

Sjeml eTevor 118 88 Q& MevoT(H6TeT  Seofllnlh

THH NG WLISI?
A) &MTT 2_GeuM&LD
B) LDIH G QUITU|E&H6T
Q) 6VITIH G 60)60T(H) & 6T
D) @60 LBlemeus 560flL0MHIGs 6T
29. Which of the following represents the correct
order of increasing electron gain enthalpy?
A) CI<F<O<S B) O<S<F<CI
C) F<S<0O<Cl D) S<O<CI<F

L9 edT6u (61 6oT6u M Ml 6V 6T6V &L [T IT60T &HeUlj
et meuLIuilev gmiauflenauiley 2 eter & iflwimeor
alflens

A) CI<F<O<S B) O<S<F<Cl
C) F<S<0<(l D) S<O<CI<F
30. Which one of the following ion will be smallest
in size?
a) Na* b) Mg
c)F d) O~
FMW 2_(HeueTen6Us G & Meoor(H 6T 3fWleofl?
a) Na* b) Mg?*
oF d) O*

BIOLOGY (BOTANY) Q.No. 31 to 45

31. Which of the following is having segmented
nucleic acid

L Influenza virus

II. HIV

III. Wound tumour virus

IV. Tobacco Mosaic Virus

A)1 &1 B) I & IV

Ol &IV D)II & III
GLHHaoTLUMMIN  aH 2 L&Hm  Ileuld
FmIF M S1600T(NSHETTSHE SHTeooTLILIHSH M

I. @) 60T L @B WIGOTEFIT 60)6UJ61V

1. HIV

1. SITUISHEHLDEEY 606U T6N

IV. Lieny& U 66V QILOMTEn&FE 606U [F6N

A)l LoD 11l B) Il Lo muLd IV
O) Il LHaLh IV D) Il Lo ayLd Il
32. Match the following

A Monera — 1) sponges

B. Protista — ii) marchantia

C. Plantae — iii) amoeba

D. Animalia — iv) eubacteria

A B C D

A) 1 1 1 v
B) iv 111 i 1

C) 1 111 v i1
D) i v 1 il



GG HETLalMHenm QUITIHS SIS
A.QmefIT - (i) &L MHLIEHS 6T

B. 4G MLQ6MLIT - (i) LM mesredlulm
C. YemmevorGL (iii) LU

D. &jeoflomedlwim — (iv) wumsiefluim

A B C D
A) il ii i iv
B) v iii ii i
Q i iii iv ii
D) i iv i iii

33. Pick the correct pair:

L. Sulphur bacteria — (i) thiobacillus

II. Iron bacteria — (ii) nitrobacter

III. Hydrogen bacteria — (ii1) hydrogenomonas

IV. Nitrifying bacteria — (iv) ferrobacillus
A)land II

B) Il and I1I

C)land III

D) III and Iv

Frflumer @emneooTenulsd CHIHE S5 M

. B8 LIMEIe flUImIg 6 — (i) SBWTCLF6v6every
Il. @@L LTSI f WIS 6T = (i) enBLGITLITE LI

. QML JE60T LIMEs I f] LIRS 6T
— (i) emaL_CrmeSCeurmGLOTEOT TeN

IV. D IBLTR60TMTES LTSI [flUI IS 6T
— (iv) QUIGrmCLI& 6L6VEN

Al L@ I
B) Il Lo (R\LD Il
Q) I L@ Il
D) lll L@ IV

34. Which is related to Frederick Griffith
A) Diplococcus pneumoniae

B) Bacillus megaterium

C) Bacillus sphaericus

D) Clostridium tetani

Nrlfles Siflelils 2 LT QSTLITLI6L IS
A) QLGS ME &6 BGLmef1Gul

B) GUF6veve QI&STH WL

Q) GLH6vEVEN 6TVGELITflBs 6N

D) Semmeru 19 fluwib QL L_meof

35. The percentage of plasmids in a bacteria is
A) 0.2% to 2.0%
B) 0.3% to 2.0%
C) 0.4% to 4.0%
D) 0.5% to 5.0%

umslerflu  Qsevedsueter  Llermerud(h & erfleor
565D

A) 0.2% to 2.0%
B) 0.3 % to 2.0%
C) 0.4% to 4.0%
D) 0.5% to 5.0%

36. A pigment Bacterioviridin is present in
A) Chlorobium
B) Chromatimum
C) Acetobacter,
D) All the above.
urs e rflweilfliger erenib BlmLSl & mesor UL eu gl
A) GCerm@rmLiwiD
B) &CrymGadluib
) QAL GLIUMSHL

D) GLDM S600TL_ S| 60)60TSH Sl LD.

37. Which of the following is coming under chromista

I. All algae whose chloroplasts contain
chlorophyll aand b

II. All" algae- ~whose chloroplasts contain

chlorophyll a and ¢

III. All. ~algae whose chloroplasts contain
chlorophyll a and d

IV. All algae whose chloroplasts contain
chlorophyll a and e

A) I only

B) I and II

C) II only

D) I and III

GCrmllevLm e Qu@Gpl ifleller Sib
QU(BEUSI 6TSI?
| UGBS0 &EEH 0 LFmMEFWLD a WmHmIh b
Q& MeuoTL. LIM& 8567
Il UF IS HEHFH LFMSFWLD a LDMMID ¢
Q& TevoT L LIMTG & 6iT
. UGBS &ESH 6 LFenFWD a WMmmID d
Q& MTevoT L LIMTE & 6iT



V. UG MBI 55560 LFamnFWIDd a 68 meoorL
DMHMILD e Q& MTEvOTL. LIMTE&H6iT

A) 1 lDMHMILD B) | LDmmILD Il
Q) Il b MILD D) | Lo miLd I
38. Match the following
A. Virion - 1) T.O Diener
B. Viroids - ii) stanly B. Prusioner
C. Virusoids - iii)intact infective virus particle
D. Prions - iv) J.W. Randless et al.
A B C D

A) il i v i
B) ii i 111 v
O 1 il v i
D) iv il i 1

GG 5600TLaUMEenm CLIT(HS S &?
A) eSlflwimedr - i) TO Q60T
B) ellF MU &6 - ii) eruL_TedTedl B.LJem& 6oty

C) NBFTUGSHET - i) Q& MM MIS 5 60T60 L0
QUITUIBHS 606UT6N SIGH6T

D) LN lWMedT& 61T - iv) J.W [IIT60oT 606N Lo M mILh &8

2L UIGUTET T & 6T
A B C D
A) il i iv i
B) ii 1 i1 1\
O 1 i1 v i
D) iv il il i

39. Which of the following components provides
sticky character to the bacterial cell?

A) Nuclear membrane

B) Plasma membrane

C) Glycocalyx

D) Cell wall
LI edTeumeuesTelmMI6T 6T ILGS Lmsleflumealms
QULDAILDLILITET &60TemLNemUI &HHIMSI?

A) 2 L &(H F6ley

B) LYeTmeruLnm &Feley

C) B ememd:CH TS0 &6

D) Q& 60L& 6UTJ.

40. Virus have
A) DNA enclosed in and protein coat

B) Prokaryotic nucleus

C) Single chromosome
D) Both DNA and RNA
606U TN 6T60T LI6DY6
A) DNA LTS 2_60M&6TIT6V @GLPLILL LY (HEHGLD
B) LUGTMG&IfIGWITL 2 L &
Q) e@menm GCrmELMEETLD.
D) DNA b mith RNA @ Fevor(BLb.

41. Which of the following is correct about viroids?
A) They have RNA with protein coat
B) They have RNA without protein coat
C) They have DNA with protein coat.
D) They have DNA without protein coat.
LMl

LNereupeusoteummitn  eNgmulG\&eT

FWImer SoHm 6T&?
a) LTS 2_e0M& 6 & MevoT L RNA60)61 & G 85 T600T L&l
b) UT& 26mmuimm RNA emeud Q& meoorL_gl.
0) LTS 2_60ME 618 M60oT L DNA6DI6U & Gl & T600TL_Sl.
d) LIT& 2-emmwimm DNA 60618 Q& T600TL_Gl.

42. Which one belongs to Monera?
A) Amoeba B) Escherichia
C) Gelidium D) Spirogyra
Ll edTe ([H 6 6uTeU M MI6T 6TS! QILOMeuflym?
A) oSum B) TV Q& & W

C) @26dl1g WilD D) evemLIGT Men &[T

43. T.O dienerdiscovered a
A) Free infections DNA
B) Infectious protein
C) Bacteriophage
D) Free infectious RNA
T.O QL Uleorifledr &6v0T(HLINQ LIL]
A) QETMHMIS H6oTemLDU|6mL U DNA
B) @& MMHMIG S60TemLOU|60L W L|T&LD
Q) umsle s LM
D) Q&MTMMIG &eTemLnU]emL_L RNA
44. Cauliflower mosaic virus contains

A) ssRNA B) dsRNA
C) dsDNA D) ssDNA



&medl s Liemeury ;T 6M6U TeNn & 6rflev
SmeoorIL(heugl

A) ssRN B) dsRNA

C) dsDNA D) ssDNA

45. Which of the following organism possess
characteristics of a plant and an animal?

A) Euglena
C) Bacteria

B) Paramecium

D) Mycoplasma

Nerau@eusoteummiem s 2 ullifleorid  smeury

LMMILD N6V LI6voTL|86m6TL] Q\LIM MIGTETS?
A) w,gerfleorm B) LUMILS& WD

O) umserflwm D) emn& & mLileTmeruLnm

| BIOLOGY (ZOOLOGY) Q.No.46t0 60 |

46. The correct sequence of Taxa is
A) Class — Order — Family — Genus — Species
B) Class — Order — Genus — Family — Species
C) Phylum — Order — Class — Species —Genus
D) Class — Phylum — Order - Genus — Species

Frflumer auen & IUML(h) LG Bleney aulflens

A ausliy - auflens - @@L — Guflerid -
A mmleorLd

B) eu@ LI — euiflems — GufleoTld — GOIDLILD ~
FAmmleorid

Q) QsMGeH - aflensg — alGLIL - Amilerid -
Gurfleorid

D) &L — QTGS - aufleng — Guiflerd —
G mmleorid
47. As we go from species to kingdom in a taxonomic
hierarchy, the number of common characteristics
A) will decrease
B) will increase
C) remain same
D) may increase or decrease
GmMleoTid WSV  2.6usMD  auemullevment
Qe & LML () LILg Blemev s erflev, QUIITEHIL
LI600T L| &5 61T 60T 6T600T 60011856008
A) G mUuLd
B) 215 &5 f16G LD
Q) G5 mlemevwileL @ (HEGLD

D) GMOBEHT  (S6Veva))
&mevor LILI(hILD.

2B &NSCHM

48. Assertion: Each taxonomic group can have two
Or more names.

Reason: Name should be short, precise and easy
to pronounce.

A) Both Assertion and Reason are true and Reason
is the correct explanation of Assertion.

B) Both Assertion and Reason are true, but Reason
is not the correct explanation of Assertion.

C) Assertion is true, but reason is false.
D) Both Assertion and Reason are false.
FaMHMI(A) : RUAUTH aUemSLIUTL (D & WeLD,

@ evor(h VLS AHMES CLOMLIL L QILIWITEHEm6T
Q & IT6D0T LY (H&H & EVITLN.

&ITyevorLD(R) QUWISET  FMlWeTsMEea|LD,
Q& erfleumenTs mEa|LD, o FFflUUsSNHS
JSIQUTETSTHELD @) (HESH6V Gausoor(hLD.

A) Fadml DMHMID STFeoTD G @) Tevor(h LD
gifl. &smgeorld FamMImE  Frflwmeor
aNlen&: & IOM&G LD.

B) G MMILD SHITF60OT(LOLD FIfl. U60TT6V, &5ITIF60oTLD
FoMMIMHES SFiflwimer ellemgasn 606V

Q) G MM &FIf] Y60TIT6V, &ITFE0ITLD HeUml

D) &M M LOMMILD STFetrd @ resor(HLD &euml
49. Match the following columns:

COLUMN-I COLUMN-II

A. Philosophie Zoologique — 1. Carolus Linnaeus
B. Historia Plantarum — 2. Lamarek
C. Systema Naturae — 3. Theophrastus
D. Genera Plantarum — 4. Benthem and Hooker

Choose the correct answer using the codes given
below:

A)A-3, B-2, C-4, D-1
B) A-2, B-3, C-1, D4
C) A-1, B-2, C-3, D-4
D) A-4, B-3, C-2, D-1

BLDS600TL LIGH &H6m6T QLIMTHS S5

A. afleuBIGILIeL S SI6UD — 1. HBFMTeVEN
69) 60T G 60T LI 6NV

B. &MU RIS 6Tl60T 6UTeVITMI — 2. QUITLOMTTE
C. @uwmemsulle pemm — 3. FEWTSLINTTevL6M
D. Qeuflym LNeTmeTLTTLD — 4. QUBSLD  LDMMILD
A& &Iy

A) A-3, B-2, C-4, D-1

B) A-2, B-3, C-1,D-4

C) A-1,B-2,C-3,D-4

D) A-4, B-3, C-2, D-1



50. Five kingdom system of classification suggested
by RH whittaker is not based on

A) Presence or absence of well defined nucleus
B) Mode of reproduction

C) Mode of nutrition

D) Complexity of body

RH. el GL&fletT &35S GLI[HEVE eUem 8 LILIML LG 6V,
HHSH 6V QEHMETETLILIL TS S

A) Qgerflaumer 2 & QUOHNMHS S50 3{6V6VSI
QLLTH (B S
B) @ 60TQILI[HESH (LDEDIM
Q) 2_600TeU,L_L_ (LP6mM
D) &5 &H60IT60T 2_L_6V6mLNLIL| LI6oTL| 86T
51. All the members of which one of the following

groups have the greatest number of characteristics
in common?

A) Genus
B) Kingdom
C) Phylum
D) Species

UM & LILIML(H)

A&
L1600T L| & 60)61T

G &5 Meol D 6TH S

LILg Blemev & erflaviaTememel,
eTevoT60l e & Ul eVTerT  QLIMSIL]
Q& T6OoTL_G1?

A) Gurfleorid
B) 2 6u& LD

Q) OsMT&S
D) S mnjleoTLD

52. Consider the following statements:

I. Human's scientific name is Homo sapiens.
II. Genera Plantarum was written by John Ray.
III. Highest taxonomic category is division.
IV. Taxonomic group of any rank is taxon.

V. A group of closely related species of organisms
present genus.

VI. The term systematic was coined by Decandole.

Choose the correct answer using the codes given
below:

A) 1L, IIL, IV and VI
B) I, I1I, V and VI
OLIVandV

D) I1, III and VI

G LD & & TEDILD G D M1 8560 61T QTMUGS

Fflwmereneugsener &eoor_ MBS CHTHAS®M:

l. neoflgenfleor  fleflwey  QuWF  CanmEom
C&FLILIUI60TEN TEOT LIS TGS LD.

Il. Qggesflpm  LllemmesorL_ Lo
TS WeU gmest G .

. Wasuouflw euemnasiur’(Gg QsmeLliy Wifley
GTEOT LIS M@ LD.

V. 6T6& @@ eUemGLIUTL G LI Blemevemuiu]nb
GMEGL gflalue Q&ML auemslIUTLH\S
QBTG LI (LT&enmedr) ereorLILI(HLD.

V.QamLiYenLw Fmmlermserfler Q& mELIGL
Guifleorld eTeoTILI(HLD.

6T6OTM  HT6M6V

VI. 19.&Me0oTGLIT6V  6TEOTLIGUT  6U6D&LILIML_L19.UI6D
6T60TM Q&FMeLEm6Y (DSHTN G656V
ANWSLILG S 6T
A1, 1L, 1V LD miLD VI
B) I, IV Lo mutd VI
Q)l, IV nphmu Vv
D) II, I Lo oud VI

53. The biological concept of species was
formulated by
A) Mayr B) Stebbins
C) Heywood D) Love
&) ()l 60T 161 T 6M 6T o ufiflwev G mLum@

Wenmuilev 2 HeUTHSe el
A) GLowly B) 6@ L LI edTeny

Q) Game|L D) 6ue6l

54. Which of the following statements are correct
about Tautonyms?
I. Generic name is different from species name.
II. Generic name is repeated as species name.
III. Generic name is absent.
IV. Generic name is written after species name.
A) L Il and IV
B) Only II
C) Only I1I
D) All of these

LTLGLmefllb  &MIEs Slwmer  ammiser
Q& mevoTL euiflem s

. Gurfleorl QuUWr Smmleorl  QuUWleSmbH S
CoumILIL1q ((HSHGLD.
. Gurfleorll  @QuUWI,
Q@ &IT6O0T L. (IH & (G LD.

Fonjleorl  QUWEFEW



. GurfleoTl QUIWT @eVeVTH (HEGLD.
V. Amnileor QUWIBHESG ABSS Cuflerll QuUWI
@L L QUOHM[HEGSLD.
A) 1, Il LOHDILD IV
B) Il LOL_()LD
Q) Il LB
D) ©)60)6)ULI6M 60T SN

55. Methanogens belong to

A) Eubacteria B) Archae bacteria

C) Dino flagellates D) Slime moulds
QD& S B60T TG 60T 6T 6T&H 601 L_60T
QSTLFLLWI6mn6eU?

A) WLmss e Wb g 6T
B) &, 7&S) LIMS I flWImbIgs 6T
C) L GeormaLNem @ 260GVl (H & 6T
D) GFMI Q| F&F &6 (6ruemeVLD GLOT6L(H &H6IT)
56. Of the following which taxonomic tool is based
on the behaviour of the organisms?
A) Neo taxonomic tool

B) e - taxonomic tool
C) Ethimology taxonomic tool

D) Cyber tools
o _ulliflaerfleor BL &S LI 600T L| &5 6111 60T
S liLemLuiley, eumsLlLUBSS  LieTL®ILD

QIS LILTL (& &ma
A) USW auem s LIUML 1 UI6) &@Hedlsser

B) WWledTenfluiev FMIHS eUen&LILITL (h&
EXGRIET

C) 6T&H6MGL0MeVES| 3)1q L1LiemL_ulleuméot
& (B G6T

D) sevoflevf] MBS & (Hel 6T

57. Cladogram considers the following characters:
A) Physiological and Bio chemical
B) Evolutionary and pylogenetic
C) Taxonomic and Systematic
D) None of the above

S eTmCLMTHR T 6TEOT LIS
L1600T L| &5 6111 60T 6T60V 55 @\ 85 T6voT (H6ITeITES1?

G LD &5 600T L

A) 2 LmesFwedlwe inmmid 2 ully Causuiluiev

B) LIfleooT 0Ll LI6OOTL|&6T MmMILD LSl
L1600T L| & 6T

Q) LLIWITSHSHETEMLD LDMMID @) 60TEHQSTLTL]
QSHMGLILIEMLNEGY

D) CmGMILILINL L gaidleveney
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58. Mule is a product of
A) Breeding
B) Mutation
C) Hybridisation
D) Inter specific hybridisation
GHMGaIN &H(PMG 2 (HAUMGLD elgLD
A) @ 6TLIGLI([HESHLD
B) Hel IDmmHmLD
Q) &euLlILS6TD & & LD
D) GaumiLIL L. @)60ThmIGHEHHEG @)60)L GUUIT6oT
@) 60TE&H6VLIL
59. System of classification used by Linnaeus was
A) Natural system
B) Artificial system
C) Phylogenetic system
D) Asexual system
69160T Georuden). LTRSS W euemssLILITL 19 Ul6V
(ALY
A) QUWMeNs auenBLIMTL(H (LM
B) QFWMen& elemn&HLUML(H (LPemm

O LIUSAsETGTH QFHTLIL elen&UTL ()
e m
D) LimeSlevir
(CALIJ10)

@eTLIQLHSES UG LILITL(h

60. The living organisms can be unexceptionally
distinguished from the non-living things on the
basis of their ability for

A) Responsiveness to touch

B) Interaction with the environment

C) Reproduction

D) Growth and movement
BLD & Mo LD TR &G & 60f11111600T LIT6V,
o Wfleormiget, 2 ulgmhmeneaisefley @ UHSI
GeumiLI(H)G& 6dTM60T?

A) 2_600TIT6) & EH &GS gL eilemerLFlgen

B) @ LpBlemeulLetT elemeurL]fl & 60

Q) @6TLIQUIH&HSLD

D) euemF&F& nmmild @LLUIQUWFTEFS



